


15 3 1
8 1 JA 5 16 15 61
92 1 7 15 16 64
125 2 10 27 11 28 33
JA
200 300
3
1 1 '
ppm 0.011 0.001 0.000 o 0.004 0.001
ppm 0.027 0.003 0.000 o 0.003 0.003
ppm 0.015 0.001 0.000 0.001 0.001
ppm 0.9 0.3 0.1 o - -
(ppm) 2 0.108 0.057 0.013 . 0.045 | 0.046
(mg/m*) 0.126 0.029 0.000 o 0.024 | 0.026
(ppmC) 3 0.26 0.18 0.14 - -
1 o °
2 5 20 1
3 9 3
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3 1
3 31
3 3
1 1 '
ppm 0.005 0.000 0.000 o 0.000 0.000
ppm 0.019 0.002 0.000 o 0.002 0.003
ppm 0.039 0.000 0.000 0.000 0.001
ppm 1.4 0.2 0.1 o - -
(ppm) 2 0.081 0.036 0.001 . 0.036 | 0.031
(mg/m?) 0.282 0.020 0.000 . 0.017 | 0.020
(ppmC) 3 0.19 0.40 0.10 - -
1 °
2 5 20 1
3 6 3
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0020
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157
3 4
1 1 !
ppm 0.006 0.001 0.000 o 0.001 0.004
ppm 0.035 0.007 0.001 o 0.010 0.011
ppm 0.027 0.002 0.000 0.003 0.004
ppm 0.9 0.3 0.2 o - 0.3
(ppm) 2 0.069 0.031 0.003 . 0.026 | 0.028
(mg/m?) 0.435 0.014 0.000 o 0.011 | 0.015
(ppmC) 3 0.21 0.18 0.10 - 0.12
1 o °
2 5 20 1
3 6 9 3
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